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BIOLOGY

BOOKS - MBD BIOLOGY (ODIA
ENGLISH)

BREATHING AND RESPIRATION

Question Bank

1. The amount of air that moves in and out of

the lungs, with each normal inspiration and


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_N32lvjP1T17D

expiration is called

A. Residual volume

B. Vital capacity

C. Tidal volume

D. None of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_N32lvjP1T17D

2. The greatest quantity of the air that can be

expired,after a maximum inspiratory effort is

its:

A. Residual volume,

B. Tidal volume

C. Vital capacity

D. Lung, volume

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_SL81HDClygAT

3. Carbonic anhydrase is mostly active in

A.RBC

B. WBC

C.Blood plasma

D. Blood platelets

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_Gl1hXJL9HwI1

4. Maximum amount of C'O, transport occurs

as.

A. Dissolved in plasma

B. Carbamino haemoglobin complex

C. Bicarbonate

D. None of the above

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_RDNfmP8Pdj9X
https://dl.doubtnut.com/l/_aYMgfBoWb8rV

5. Amount of Ospresent in one gram of

hemoglobin is :

A. 20 ml

B. 1.36 ml

C.13.6 ml

D. None of these

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_aYMgfBoWb8rV

6. PCO, released from body is:

A. 15 mm
B.23 mm
C.30 mm

D. 70 mm

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_TyBrhYJoDTv7

7. In lungs air is separated from the venous

blood is by,

A. Squamous epithelium + tunica externa

of blood vessels

B. Squamous epithelium + endothelium of

blood vessels

C. Transitional epithelium + tunica media

of blood vessels


https://dl.doubtnut.com/l/_Ugc39EsCJRkW

D. Columnar epithelium + 3 layered wall of

the blood vessel-

Answer: B

O Watch Video Solution

8. A molecule of haemoglobin carries oxygen

molecules

Al

B.2


https://dl.doubtnut.com/l/_Ugc39EsCJRkW
https://dl.doubtnut.com/l/_E06EvUvS0jLo

C.3

D. 4

Answer: D

° Watch Video Solution

9. Respiratory centre is present in:

A. Medulla oblongata

B. Cerebellum

C. Cerebrum


https://dl.doubtnut.com/l/_E06EvUvS0jLo
https://dl.doubtnut.com/l/_E7neCWzdKZkZ

D. Diencephalon

Answer: A

o Watch Video Solution

10. Vital capacity of lungs is:

A. 1500 ml

B. 2000 ml

C. 5800 ml

D. 500 ml


https://dl.doubtnut.com/l/_E7neCWzdKZkZ
https://dl.doubtnut.com/l/_tHINrndcCvfs

Answer: C

o Watch Video Solution

11.In carbon dioxide poisoning there is:.

A. Increase in carbon dioxide concentration

B. Decrease in oxygen availability

C. Decrease in free haemoglobin

D. None of the above

Answer: B


https://dl.doubtnut.com/l/_tHINrndcCvfs
https://dl.doubtnut.com/l/_jWvZfciolmXf

° Watch Video Solution

12. Oxygen carried in inhalation ultimately

reaches

A. Bronchioles

B. Bronchus

C. Trachea

D. Alveoli

Answer: D

| 8 l


https://dl.doubtnut.com/l/_jWvZfciolmXf
https://dl.doubtnut.com/l/_625f9OhPjZHh

13. Exchange of gases in lung alveoli occurs

through:

A. Active transport

B. Osmosis

C. Simple diffusion

D. Passive transport

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_625f9OhPjZHh
https://dl.doubtnut.com/l/_yf4Hdy7Mc8bk

14. Haemoglobin is:

A. Vitamin

B. Skin pigment

C. Blood carrier

D. Respiratory pigment

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_yf4Hdy7Mc8bk
https://dl.doubtnut.com/l/_QCR5HZ3NBLTB
https://dl.doubtnut.com/l/_xNuHdPs2K6cB

15. Vocal cords occur in:

A. Pharynx

B. Larynx

C. Stomach

D. Oesophagus

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_xNuHdPs2K6cB

16. Concentration of carbonic acid does not

increase in blood due to presence of

A.Na™
B.Mg+™

C.Ca’t

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_7sIQK3tOs7hI
https://dl.doubtnut.com/l/_Bcf2wVCTIYHX

17. Bicarbonat is produced inside

A. Lymphocyte

B. Erythrocyte

C. Neutrophils

D. Basophils

Answer: B

° Watch Video Solution

18. The cells which do not respire:


https://dl.doubtnut.com/l/_Bcf2wVCTIYHX
https://dl.doubtnut.com/l/_ZUeahkwI8bIF

A. Epidermal cells

B. Fibroblast

C. Cortical cells

D. Erythrocyte

Answer: D

o Watch Video Solution

19. The layers of uneven columnar cells which

form tracheal lining are component of:


https://dl.doubtnut.com/l/_ZUeahkwI8bIF
https://dl.doubtnut.com/l/_X5DolEbUelZa

A. Brush border epithelium

B. Stratified epithelium

C. Pseudostratified epithelium

D. Ciliated epithelium

Answer: C

o Watch Video Solution

20. Diffusion of oxygen in tissues of cockroach

occurs through:


https://dl.doubtnut.com/l/_X5DolEbUelZa
https://dl.doubtnut.com/l/_RMaQQ5Fd7fCT

A. Blood

B. Integument

C. Tracheae

D. Tracheole

Answer: D

° Watch Video Solution

21. Oxygen carried by blood is liberated in:

A. Arteries


https://dl.doubtnut.com/l/_RMaQQ5Fd7fCT
https://dl.doubtnut.com/l/_i18x8XxfpdKF

B. Capillaries of body

C. Capillaries of lungs

D. Heart

Answer: B

o Watch Video Solution

22. Adam's Apple represents:

A. Arytenoid cartilage

B. Cricoid cartilage


https://dl.doubtnut.com/l/_i18x8XxfpdKF
https://dl.doubtnut.com/l/_oOxKiHr7aqUO

C. Thyroid cartilage

D. All of the above

Answer: C

° Watch Video Solution

23. Vital capacity of lungs is:

A.45-51

B.3.5-45|

C.25-391


https://dl.doubtnut.com/l/_oOxKiHr7aqUO
https://dl.doubtnut.com/l/_aFUVBopmprOB

D.15.-251

Answer: B

° Watch Video Solution

24. Hiccough (hiccup) is due to activity of:

A. Intercostal muscles

B. Food in air tract

C. Diaphragm

D. Inadequate oxygen in the environment


https://dl.doubtnut.com/l/_aFUVBopmprOB
https://dl.doubtnut.com/l/_0skEau8EwyC7

Answer: C

o Watch Video Solution

25. Apnoea is:

A. Decreased ventilation

B. Absence of breathings

C. Laboured breathing

D. Increased ventilation

Answer: B


https://dl.doubtnut.com/l/_0skEau8EwyC7
https://dl.doubtnut.com/l/_JZybAe6m87EZ

° Watch Video Solution

26. Book lungs are respiratory structures of:

A. Arachnida

B. Molllusca

C. Mammals

D. Earthworms

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_JZybAe6m87EZ
https://dl.doubtnut.com/l/_LrGgOd3pj7Ki

27. Bicarbonate ions formed inside
erythrocytes pass out into plasma while
chloride of plasma pass into erythrocytes, This
phelomenon is called:

A. Bohr effect

B. Haldane effect

C. Hamburger phenomenon

D. Pneumotaxic area

Answer: C



https://dl.doubtnut.com/l/_LrGgOd3pj7Ki
https://dl.doubtnut.com/l/_AOri6MOfdN7f

I O Watch Video Solution

28. Respiratory centrecof the brain s

stimulated by:

A. Carbon dioxide content in venous blood

B. Carbon dioxide content in arterial blood

C. Oxygen content in venous blood

D. Oxygen content in arterial blood

Answer: D

l o Watch Video Solution


https://dl.doubtnut.com/l/_AOri6MOfdN7f
https://dl.doubtnut.com/l/_bz2ywVTJHFBE

29. Carbon dioxide entering erythrcicytes react

with water to form carbonic acid. The enzyme

IS:

A. Carbonic anhydrase

B. Carboxypeptidase

C. Hydrolase

D. Oxydoreductase

Answer: A

| €8


https://dl.doubtnut.com/l/_bz2ywVTJHFBE
https://dl.doubtnut.com/l/_hSmtQZJ6Pcxz

| ¥ Watch Video Solution J

30. Blue copper protein complex contained in

some molluscs in their piasma for O,

transport is

A. Haemocyanin

B. Chlcirocruorirt

C. Bilirubin

D. Haemoglobin

Answer: A



https://dl.doubtnut.com/l/_hSmtQZJ6Pcxz
https://dl.doubtnut.com/l/_ZLLFQ4kQeyg2

I o Watch Video Solution

31. Determination of oxygen carried by

haemoglobin is done by:

A. pH

B. Partial pressure of oxygen

C. Partial pressure of CO,

D. All of the above

Answer: B

I o Watch Video Solution


https://dl.doubtnut.com/l/_ZLLFQ4kQeyg2
https://dl.doubtnut.com/l/_AgWanRUgVhqG

32. Gases diffuse over the respiratory surface

because of:

A. Pp, is more in alveoli

B. Pp, is more in blood than tissue

C. Pco, is more in alveoli than the blood

D. Pco, is more in blood than tissue

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_AgWanRUgVhqG
https://dl.doubtnut.com/l/_7AGfNUwAanXn

33. Inspiratoty centre ts located in:

A. Cerebellum

B. Cerebrum

C. Hypothalamus

D. Medulla oblongata

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_7AGfNUwAanXn
https://dl.doubtnut.com/l/_DOzSqwudnQjD

34. Maximum amount of C(CQOs transport

OCcCuUrs as.

A. Sodium bicarbonate

B. Sodium carbonate

C. Potassium carbonate

D. Magnesium carbonate

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fjuSbXQBq6wu
https://dl.doubtnut.com/l/_saJCQIUq5uhe

35. Dissociation curve shifts to right when

A. Oy concentration decreases

B. CO, concentration decreases

C. CO, concentration increases

D. Chloride concentration increases

Answer: C

o Watch Video Solution

36. Epithelial lining of tracheoles is


https://dl.doubtnut.com/l/_saJCQIUq5uhe
https://dl.doubtnut.com/l/_A6heW00w1GpB

A. Pseudostratified columnar

B. Pseudostratified sensory

C. Squamous sensory

D. Cuboidar and columnar

Answer: D

o Watch Video Solution

37. Thoracic cage of man is formed by

A. Ribs and sternum


https://dl.doubtnut.com/l/_A6heW00w1GpB
https://dl.doubtnut.com/l/_iOCH59xeeOo0

B. Ribs, sternum and thoracic vertebrae

C. Rib, sternum and lumbar vertebrae

D. Ribs and thoracic vertebrae

Answer: B

o Watch Video Solution

38. Vital capacity of lungs is:

A. IRV + ERV + TV.

B.IRV + ERV +TV — RV


https://dl.doubtnut.com/l/_iOCH59xeeOo0
https://dl.doubtnut.com/l/_Wuq2QScTJOA4

C.IRV + ERV +TV + RV

D. TRV + ERV

Answer: A

° Watch Video Solution

39. In crustaceans respiration occurs through

A. Trachea

B. Gills

C.Book lungs


https://dl.doubtnut.com/l/_Wuq2QScTJOA4
https://dl.doubtnut.com/l/_UM12hZCcmFiE

D. Book gills

Answer: B

o Watch Video Solution

40. Insect tracheal system opens to the

outside through:'

A. Spiral valve

B. Peden

C. Spiracle


https://dl.doubtnut.com/l/_UM12hZCcmFiE
https://dl.doubtnut.com/l/_aeXOvaCPuPa1

D. Taenidio

Answer: C

° Watch Video Solution

41. Oxyhaemoglobin dissociated at:

A. Low Py, in tissue
B. High Py, in tissue
C. Equal P,

D. All time irrespective of Pp,


https://dl.doubtnut.com/l/_aeXOvaCPuPa1
https://dl.doubtnut.com/l/_vzCa8cKEptlM

Answer: A

o Watch Video Solution

42. How many molecules of oxygen are used

during glycolysis of one glucose molecule ?

A.38

B. 34

C.2

D.O


https://dl.doubtnut.com/l/_vzCa8cKEptlM
https://dl.doubtnut.com/l/_SoRFEFWr1BPp

Answer: D

o Watch Video Solution

43. With reference to human-respiration which

is correct?

A.Pulmonary ve.ntilation is equal to

alveolar ventilation

B. Alveolar ventilation ‘s less than

pulmonary ventilation


https://dl.doubtnut.com/l/_SoRFEFWr1BPp
https://dl.doubtnut.com/l/_rlCn5UaaVaWB

C. Alveolar ventilation is more

pulmonary ventilation

D. Pulmonary ventilation is less.

alveolar ventilation

Answer: B

than

than

o Watch Video Solution

44. Which is true for CO5 concentration ?

A. More in alveolar air than in: expired air


https://dl.doubtnut.com/l/_rlCn5UaaVaWB
https://dl.doubtnut.com/l/_p0eyWCcyMZfD

B. More in expired air than in alveolar air

C. More in inspired air than in expired air

D. More in inspired .air than in alveolar air

Answer: A

o Watch Video Solution

45, Respiratory centre in brain is sensitive to:

A.CO,

B. Hb


https://dl.doubtnut.com/l/_p0eyWCcyMZfD
https://dl.doubtnut.com/l/_WpnI7syi9i0t

D.CO

Answer: A

o Watch Video Solution

46. When C05 concentration in blood increase

breathing become .

A. Shallower and slow

B. There is no effect on-breathing


https://dl.doubtnut.com/l/_WpnI7syi9i0t
https://dl.doubtnut.com/l/_K1KA74IcAHk7

C. Slow and deep

D. Faster and deeper

Answer: D

o Watch Video Solution

47. Blood analysis of a patient reveals an
unusually high quantity of carboxyhaemo-
globin content. Which of the following

conclusions is most likely to be correct ?


https://dl.doubtnut.com/l/_K1KA74IcAHk7
https://dl.doubtnut.com/l/_FxiSZabcdNc7

A. Carbon disulphide

B. Chloroform

C. Carbon dioxide

D. Carbon monoxide

Answer: D

o Watch Video Solution

48. In glycolysis, during: oxidation electrons

are removed by:


https://dl.doubtnut.com/l/_FxiSZabcdNc7
https://dl.doubtnut.com/l/_qhVrRlPGrsRc

A. ATP

B. Glyceraldehyde-3-phosphate

C.NAD™

D. Molecular oxygen

Answer: C

° Watch Video Solution

49, Lungs are enclosed in:

A. Pericardium


https://dl.doubtnut.com/l/_qhVrRlPGrsRc
https://dl.doubtnut.com/l/_Dqzc2LPpNbTF

B. Peritoneum

C. Pleural membrane

D. None of these

Answer: C

o Watch Video Solution

50. After taking a long deep breath we do not

respire for some second due to :

A. More CO, in blood


https://dl.doubtnut.com/l/_Dqzc2LPpNbTF
https://dl.doubtnut.com/l/_MFtZ87WaOamV

B. More O, in blood

C. Less C'O5 in blood

D. Less Oy in blood

Answer: C

o Watch Video Solution

51. Which of the following substances if
introduced into the bloodstream, would cause
coagulation -of blood at the site of its

introduction ?


https://dl.doubtnut.com/l/_MFtZ87WaOamV
https://dl.doubtnut.com/l/_ALsl0woCqatK

A. Prothrombin

B. Fibrinogen

C. Thromboplastin

D. Heparin

Answer: C

° Watch Video Solution

52. Which structure of man is similar to

spiracle of cockroach ?


https://dl.doubtnut.com/l/_ALsl0woCqatK
https://dl.doubtnut.com/l/_8iYrRWyNSY3h

A. Mouth,

B. Anus,

C. Nostril

D. Ear

Answer: C

o Watch Video Solution

53. Capacity of lungs for air in the healthy man

IS :


https://dl.doubtnut.com/l/_8iYrRWyNSY3h
https://dl.doubtnut.com/l/_qSOsl17A8qDE

A.3000 ml

B. 1500 ml

C. 6000 ml

D. 10000 ml

Answer: C

o Watch Video Solution

54. Lung ventilation movement is due to:

A. Coastal muscles and diaphragm


https://dl.doubtnut.com/l/_qSOsl17A8qDE
https://dl.doubtnut.com/l/_HgWXQgC6UTey

B. Coastal muscles only

C. Diaphragm only

D. Lung wall

Answer: A

o Watch Video Solution

55. Which one of the following statement is

incorrect ?


https://dl.doubtnut.com/l/_HgWXQgC6UTey
https://dl.doubtnut.com/l/_JzmRdY9iOpLG

A. In insects circulating body fluids serve to

distribute oxygen to tissue.

B. The principle of counter current flow

facilitates efficient respiration in gills of

fishes.

C.The residual air in lungs slightly

decrease the efficiency of respiration in

mammals.

D. The presense of non-respiratory air sasc,

increase the efficiency of respiration in


https://dl.doubtnut.com/l/_JzmRdY9iOpLG

birds.

Answer: A

° Watch Video Solution

56. The majority of carbon dioxide produced

by our body cells in transported to the lungs:

A. As carbonates

B. Attached to haemoglobin

C. Dissolved in the blood


https://dl.doubtnut.com/l/_JzmRdY9iOpLG
https://dl.doubtnut.com/l/_Jn6utdZbGW97

D. As bicarbonates

Answer: D

o Watch Video Solution

57. Glycolysis occurs in:

A. Nucleus

B. Cytoplasm

C. Mitochondria

D. Lysosome


https://dl.doubtnut.com/l/_Jn6utdZbGW97
https://dl.doubtnut.com/l/_rg0am1u812wM

Answer: C

o Watch Video Solution

58. In glycolysis enzyme playing key role in

splitting 6C compound into 3C compound is:

A. Hexokinase

B. Aldolase

C.Isomerase

D. Enolase


https://dl.doubtnut.com/l/_rg0am1u812wM
https://dl.doubtnut.com/l/_v48M4ngHsjSr

Answer: D

o Watch Video Solution

59. Membrane separating air in pulmonary

alveoli from blood capillaries :

A. Alveolar epithelium

B. Cardiac epithelium

C. Endothelium blood capillaries

D.Both aand ¢


https://dl.doubtnut.com/l/_v48M4ngHsjSr
https://dl.doubtnut.com/l/_RtExx6bXLhle

Answer: D

o Watch Video Solution

60. One mole of glucose on metabolism

liberates how many kilocalories of energy ?

A.180

B. 80

C. 160

D. 380


https://dl.doubtnut.com/l/_RtExx6bXLhle
https://dl.doubtnut.com/l/_qSMjpkhml6Hb

Answer: D

o Watch Video Solution

61. Enzymes of Krebs cycle are located in the
matrix of mitochondria except one which is
located in the inner mitochondrial membrane.
Name the enzyme.

A. Isocitrate dehydrogenase

B. Malate dehydrogenase

C. Succinate dehydroginase


https://dl.doubtnut.com/l/_qSMjpkhml6Hb
https://dl.doubtnut.com/l/_6BqtW05570dp

D. Lactate dehydrogenae

Answer: C

° Watch Video Solution

62. The overall goal of glycolysis, Krebs' cycle

and the electron transport system is the

formation of:

A. ATP in one large oxidation reaction

B. Sugars


https://dl.doubtnut.com/l/_6BqtW05570dp
https://dl.doubtnut.com/l/_ShZ35a5HcyJk

C. Nucleic acids

D. ATP in small stepwise units

Answer: D

o Watch Video Solution

63. Which one of the following mammalian

cells is not capable of metabolising glucose to

CO, aerobically ?

A. Unstriated muscle cell


https://dl.doubtnut.com/l/_ShZ35a5HcyJk
https://dl.doubtnut.com/l/_28v5dVHVYm8H

B. Liver cell

C. Red blood cell

D. White blood cell

Answer: C

o Watch Video Solution

64. Trachea is made up of cartilage.

o Watch Video Solution



https://dl.doubtnut.com/l/_28v5dVHVYm8H
https://dl.doubtnut.com/l/_ooDRFqvjvK6s
https://dl.doubtnut.com/l/_fjTEAROw8H3x

65. Erythrocytes carry out anaerobic

respiration only because they don't have

° Watch Video Solution

66. Cigarette smoking leads to a disease called

o Watch Video Solution

67. Which structure of man is similar to

spiracle of cockroach ?


https://dl.doubtnut.com/l/_fjTEAROw8H3x
https://dl.doubtnut.com/l/_WllvQ5cciOBm
https://dl.doubtnut.com/l/_cSHju0sATKPv

° Watch Video Solution

68. Oxidative phosphorylation occurs in

° Watch Video Solution

69. Volume of air left in the lungs after

maximum forced expiration is called

o Watch Video Solution



https://dl.doubtnut.com/l/_cSHju0sATKPv
https://dl.doubtnut.com/l/_PqsNBO53You3
https://dl.doubtnut.com/l/_IwVwaGX6jWHV

70. Exchange of gases occur through skin is

o Watch Video Solution

71. prevents the. passage of food particles

into the respiratory tract.

o Watch Video Solution



https://dl.doubtnut.com/l/_UZmF7bWtut7T
https://dl.doubtnut.com/l/_krXQqjHLpcFg

72. Partial pressure of CO, at sea level is

mm of Hg.

o Watch Video Solution

73. In human beings the left lung consists of

lobes and the right lung consist of

o Watch Video Solution



https://dl.doubtnut.com/l/_2kwX2s2W4nUs
https://dl.doubtnut.com/l/_IRHi1NY7TfY1

74. What term is used for sound box of the

human?

o Watch Video Solution

75. What .are respiratory organs of reptiles,

birds and mammals?

o Watch Video Solution



https://dl.doubtnut.com/l/_7bypefhYf1ws
https://dl.doubtnut.com/l/_bfVWKDEF7Ife

76. What is the structure through which

protozoan, sponges and coelenterata respire ?

o Watch Video Solution

77. What is the respiratory organ in arachnids

o Watch Video Solution

78. What is the respiratory organ in Nereis ?

o Watch Video Solution



https://dl.doubtnut.com/l/_9HDLpq1dCvTj
https://dl.doubtnut.com/l/_Ph7ngJZu78Lj
https://dl.doubtnut.com/l/_vcwSliBKVpFt

79. Through what Frog respires during

hibernation and aestivation

o Watch Video Solution

80. Name the sense organ in the nasopalatine

duct to smell food ?

o Watch Video Solution



https://dl.doubtnut.com/l/_vcwSliBKVpFt
https://dl.doubtnut.com/l/_fQIUQSE7KmoK
https://dl.doubtnut.com/l/_Ph0BbYo7YyUo

81. What are the functional units of lungs ?

o Watch Video Solution

82. What is the double layered covering of the

lungs called ?

° Watch Video Solution

83. Name the reflex action which suddenly

removes air through the nasal cavity to clean


https://dl.doubtnut.com/l/_kJoMAlEhXcMC
https://dl.doubtnut.com/l/_3ogwL0yihPKT
https://dl.doubtnut.com/l/_wDEDrOzEGhwd

o Watch Video Solution

84. Name the sense organ that lies on the

schneiderian membrane:

° Watch Video Solution

85. Name the cord which vibrates in larynx to

produce sound

o Watch Video Solution



https://dl.doubtnut.com/l/_wDEDrOzEGhwd
https://dl.doubtnut.com/l/_RcRUefjnPq76
https://dl.doubtnut.com/l/_6HwUBXADW0Vo

86. Name the body cavity in which lungs are

present.

° Watch Video Solution

87. Which artery brings deoxygenated blood to

lungs?

o Watch Video Solution



https://dl.doubtnut.com/l/_6HwUBXADW0Vo
https://dl.doubtnut.com/l/_2AMylHiW8Ghl
https://dl.doubtnut.com/l/_36Ym7twZc71J

88. Which blood vessel takes oxygenated

blood from lungs

o Watch Video Solution

89. Name the opening between two vocal

cords.

o Watch Video Solution

90. Which is respiratory pigment in man ?



https://dl.doubtnut.com/l/_WKVi2h6Rb38c
https://dl.doubtnut.com/l/_8jxwTC9Z52mv
https://dl.doubtnut.com/l/_vRfBaTE4DYpS

o Watch Video Solution

91. Name the metal present in haemoglobin

o Watch Video Solution

92. Which enzyme catalyzes the reaction
between CO; and H>O that produces

carbonic acid ?

o Watch Video Solution



https://dl.doubtnut.com/l/_vRfBaTE4DYpS
https://dl.doubtnut.com/l/_7XNIz6Z3V4MU
https://dl.doubtnut.com/l/_oEwo7o1DauYz
https://dl.doubtnut.com/l/_f3ppk3HG3yGU

93. Respiratory centre is present in:

o Watch Video Solution

94. Vital capacity of lungs is:

o Watch Video Solution

95. Due to muscular spasm of diaphragm, a

noisy inspiration occurs. What is it called?

o Watch Video Solution



https://dl.doubtnut.com/l/_f3ppk3HG3yGU
https://dl.doubtnut.com/l/_Vz7zSuSRvprE
https://dl.doubtnut.com/l/_jsuHlsCEI4kR

96. Name the muscular portion that separates

thoracic cavity from abdominal cavity.

o Watch Video Solution

97. Stomach is a common passage for air and

food.

o Watch Video Solution



https://dl.doubtnut.com/l/_jsuHlsCEI4kR
https://dl.doubtnut.com/l/_daoEuNLdOH79
https://dl.doubtnut.com/l/_736MheOAEcxC

98. Adam's apple is a protrusion of cricoid

cartilage.

o Watch Video Solution

99. Pharynx is a voice box.

o Watch Video Solution

100. Alveoli are sites for food exchange.

o Watch Video Solution



https://dl.doubtnut.com/l/_5aftdg80Xp0g
https://dl.doubtnut.com/l/_l79HA8Ogv68P
https://dl.doubtnut.com/l/_sP1yqFzKtWsA

101. Diaphragm is a dome shaped partition of

cardiac muscle.

o Watch Video Solution

102. Intake of air is called expiration.

A. True

B. False


https://dl.doubtnut.com/l/_sP1yqFzKtWsA
https://dl.doubtnut.com/l/_C7s21vKdnCm9
https://dl.doubtnut.com/l/_zBc3WUiQ7wRN

Answer: inspiration

o Watch Video Solution

103. W.B.Cs transport Os.

A. True

B. False


https://dl.doubtnut.com/l/_zBc3WUiQ7wRN
https://dl.doubtnut.com/l/_4jfAtrXfhsyY

Answer: R.B.Cs

o Watch Video Solution

104. Myoglobins are present in R.B.Cs.

o Watch Video Solution

105. Carbonic anhydrase is present in W.B.Cs.

A. True

B. False


https://dl.doubtnut.com/l/_4jfAtrXfhsyY
https://dl.doubtnut.com/l/_NRnSHdUiJvRG
https://dl.doubtnut.com/l/_wAcqDj8XVnMo

Answer: R.B.Cs

° Watch Video Solution

106. Respiratory centres are

cerebellum.

A. True

B. False

located

in


https://dl.doubtnut.com/l/_wAcqDj8XVnMo
https://dl.doubtnut.com/l/_F2zsHlJofOzw

Answer: medulla oblongata

° Watch Video Solution

107. What is chloride shift ? Write its

significance during respiration.

o Watch Video Solution



https://dl.doubtnut.com/l/_F2zsHlJofOzw
https://dl.doubtnut.com/l/_6B1xwpad2DI2

108. How does haemoglobin help in the

transport of oxygen from lung to tissue ?

° Watch Video Solution

109. What is the role of carbonic anhydrase
enzyme in the transport of gases during

respiration ?

° Watch Video Solution



https://dl.doubtnut.com/l/_adYaU7xvg74k
https://dl.doubtnut.com/l/_6NPVqeAcguyf

110. What is Bohr effect ? Write its significance.

o Watch Video Solution

111. List the three major forms in which C'O, is

transported in our blood.

o Watch Video Solution

112. What is branchial respiration ? Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_Rc7cQdxm1W4i
https://dl.doubtnut.com/l/_uYiWn9ruTpGm
https://dl.doubtnut.com/l/_wP1gYP7uBxvX

113. Differentiate between aerobic and
anaerobic respiration.

o Watch Video Solution

14. Distinguish between breating and

respiration.

o Watch Video Solution



https://dl.doubtnut.com/l/_wP1gYP7uBxvX
https://dl.doubtnut.com/l/_Pu3dQ4YScweZ
https://dl.doubtnut.com/l/_jfiRrL8s4UJ8

115. Differentiate between inspiration and

expiration.

o Watch Video Solution

116. Differentiate between lung capacity and

vital capacity.

o Watch Video Solution



https://dl.doubtnut.com/l/_RtaqFWwrgUWW
https://dl.doubtnut.com/l/_5M1VG1sO7qgw

117. Differentiate between trachea and

tracheae.

o Watch Video Solution

118. Give an account of respiratory system in

man.

o Watch Video Solution



https://dl.doubtnut.com/l/_4H5kT72Z1uFe
https://dl.doubtnut.com/l/_uSzzmyad6i1T

119. What is pulmonary respiration ? Describe

mechanism of pulmonary respiration in man.

° Watch Video Solution

120. Describe the process of transport of

oxygen and carbon dioxide in blood.

o Watch Video Solution



https://dl.doubtnut.com/l/_tELcriXuQ5m1
https://dl.doubtnut.com/l/_JX3PfyEUtwdV

121. Draw a labelled a diagram of respiratory

system of man.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZjHUOqG3A2Pm

